/DVIRB

*UXSD 5RINiIDG 03 &) 1

7\J

o
™
=
n
7N 7N
3.)  6N:DG IHNVIX =
QDXNRZHJR Z VAVIHPIH 3UJHGPIRI PHQDGTHUVNL
/DTH; Z GUKDE (NRQRPID Z GU=DVCSD
= RTQD 6]FJHGQIDN 3IRIV $%
%RTHQD $% 35$82:1.$
[ .20387(52:$ - 03 /(.7521,.,,
g &)1 $.867<., z03&) 1
=2
T 7\J
3.)  6NiDG IHNVIX
QDXNRZHJR Z VAVIHPIH
/D7H; Z GUKDE
= RTQD 6]FTHGQIDN
%RTHQD $% 03
&)1
7N
=
T
= 3_.&+ 1RZRFIHVQH
a UHDNFIH FKHPLF]QH
,’ﬂ‘ VAQIH]H HNyZ ‘SURI GU
w KDE %DiFJHZVNL 3IRI $
-03&) 1
= 7N\J
L OB GHPLQDUXP GRNIRUDQFNIH SURI GU KDE %DiFJHZVNL 3LRIU SURI GUKDE 3DYIXN ORIRG\P\U SURI QDG]Z 6]F]CGQIDN
Q 5DGRVIDZ SURI QDG]Z ODNRZVND -DQXVIN OD:JRU]DID = O3 &) 1
L = HGiXJ LQG\ZIGXDIQHJIR KDUPRQRIUDPX
[a e
©




